
PHYSICS

BOOKS - MODERN PUBLICATION PHYSICS (KANNADA

ENGLISH)

DESCRIPTION OF MOTION IN ONE DIMENSION

Multiple Choice Question Level I

1. A boy throws a ball in air in such a manner that when the ball is in its

max. height, he throws another ball. If the balls are thrown after the time

difference of 1 s, then what will be the height attained by them:

A. 19.6 m

B. 9.8 m

C. 4.9m

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zACm4tmBVU8a


D. 2.45 m

Answer: c

Watch Video Solution

2. A bus starts from rest with an acceleration of 1  A man who is 48

m behind the bus starts with a uniform velocity of 10 m . Then after

how much time the man will catch the bus ?

A. 12 s

B. 8s

C. 10 s

D. 4s

Answer: b

Watch Video Solution

m/s2

s− 1

https://dl.doubtnut.com/l/_zACm4tmBVU8a
https://dl.doubtnut.com/l/_ip9Q1y0Xz8sx
https://dl.doubtnut.com/l/_D15HVlEgQbgL


3. A body is released from the top of a tower of height metre. It takes

time T seconds to reach the ground. Where is the body at time 

seconds?

A. At  m from the ground

B. At  m from the ground

C. At  m from the ground

D. Depend upon mass and volume of the body

Answer: c

Watch Video Solution

T

2

h

2

h

4

3
h

4

4. The displacement y (in metres) of a body varies with time T (in sec.) as 

. How long does the body takes to come to the rest

?

A. 8s

B. 10s

y = t2 + 36t + 2
−3

2

https://dl.doubtnut.com/l/_D15HVlEgQbgL
https://dl.doubtnut.com/l/_svCrHFotttOD


C. 12s

D. 16s

Answer: c

Watch Video Solution

5. A body experiences acceleration for 6 seconds after starting from rest.

If it travels a distance  in first 2 s,  in the next two s, and  in the

last two s. then :

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

x1 x2 x3

x1 : x2 : x3 : = 1: 1: 1

x1 : x2 : x3 : = 1: 2: 3

x1 : x2 : x3 : = 1: 3: 5

x1 : x2 : x3 : = 1: 4: 8

https://dl.doubtnut.com/l/_svCrHFotttOD
https://dl.doubtnut.com/l/_t6bQnP80I3Ef


6. The velocity of a particle is given by  where a, and

an are constants and t is time. The acc. of particle is:

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

v = 3 + 6(a1 + a2t)

a1 + a2

6(a1 + a2)

6a1

6a2

7. On a velocity time graph of a body, the ratio of average acceleration

during time interval OA and AB is: 

https://dl.doubtnut.com/l/_t6bQnP80I3Ef
https://dl.doubtnut.com/l/_Q18MsajGza0e
https://dl.doubtnut.com/l/_2aoKPHGjQ1V8


A. 1

B. 

C. 

D. 3

Answer: c

Watch Video Solution

1

2

1

3

8. A bullet fired into a target loses half of its velocity after penetrating 36

cm. Further distance covered by it before coming to rest will be

A. 18 cm

https://dl.doubtnut.com/l/_2aoKPHGjQ1V8
https://dl.doubtnut.com/l/_cUxDVmnfB2L1


B. 24 cm

C. 12 cm

D. 30 cm

Answer: c

Watch Video Solution

9. A balloon is going vertically upward with a velocity of 15 . When it

is at a height of 50 m above the ground a stone is gently dropped from it.

The stone will reach the ground in time (take g = 10 :

A. 5 s

B. 7 s

C. 9 s

D. 3 s

Answer: a

ms− 1

ms− 2)

https://dl.doubtnut.com/l/_cUxDVmnfB2L1
https://dl.doubtnut.com/l/_7LT5dejLy4M0


Watch Video Solution

10. A train is moving with a speed of 54 km/h. A monkey is running on the

roof of a train against its motion with a speed of 5 ms. w.ut the train. The

velocity of the monkey as observed by a man on the ground is :

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

20ms− 1

15ms− 1

10ms− 1

5ms− 1

11. A particle moving in straight line cover half the distance with speed

. The other half is covered in two equal time intervals with speed 3ms− 1

https://dl.doubtnut.com/l/_7LT5dejLy4M0
https://dl.doubtnut.com/l/_xOhW1yl54uPm
https://dl.doubtnut.com/l/_SRyqQptguzcd


 respectively. The average speed of the particle

during motion is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

4.5ms− 1 and 7.5ms− 1

4ms− 1

5ms− 1

5.5ms− 1

4.5ms− 1

12. A 120 m long train is moving towards west at a speed of 10   .A

small bird flying towards east at a speed of 5  crosses the train.

What is time taken by the bird to cross the train :

A. 4 s

B. 8 s

C. 12 s

ms− 1

ms− 1

https://dl.doubtnut.com/l/_SRyqQptguzcd
https://dl.doubtnut.com/l/_06p1GOHdz3VN


D. 24 s

Answer: b

Watch Video Solution

13. A body moves along a circular track of radius R. It starts from one end

of a diameter and reaches the other end of diameter. What is the ratio of

the distance travelled by the body to its displacement :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

π

2

2

π

2π

1

2π

https://dl.doubtnut.com/l/_06p1GOHdz3VN
https://dl.doubtnut.com/l/_ayOwVQDU9ybx
https://dl.doubtnut.com/l/_mHc3Xcy9KIwx


14. A car accelerates from rest at a constant rate a for some time after

which it retards at a constant rate to come to rest. If the time elapsed is t,

maximum velocity reached is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

v = t( )
αβ

α + β

v = t( )
αβ

α − β

v = t( )
α2

α − β

v = t( )
β2

α − β

15. The displacement of a particle moving in one dimension under the

action of a constant force is related to timer by the equation 

, where x is in metres and in second. What is the displacement of particle

when its velocity is zero?

A. zero

t = √x + 3

https://dl.doubtnut.com/l/_mHc3Xcy9KIwx
https://dl.doubtnut.com/l/_kjdeQ9biktC4


B. 1 m

C. 2 m

D. 3 m

Answer: a

Watch Video Solution

16. A car accelerates from rest at constant rest a  t for same time after

which it deaccelerates at constant rate  to come to rest. If total time

taken is t then distance covered is given by :

A. 

B. 

C. 

D. 

Answer: d

α

β

x = t2( )
αβ

α + β

x = t2( )
αβ

α − β

x = ( )
t2

2

αβ

α − β

x = ( )
t2

2

αβ

α + β

https://dl.doubtnut.com/l/_kjdeQ9biktC4
https://dl.doubtnut.com/l/_yP6IqRYq4K19


Watch Video Solution

17. A Body start from origin and move along x-axis such that velocity at

any instant is given by  is in second and velocity in m/s Find

acceleration of the particle when it is at a distance of 2 m from the origin:

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

4t3 − 2t

28ms− 2

22ms− 2

12ms− 2

10ms− 2

18. Tennis ball is dropped on the floor from a height of 100 m. It rebounds

to a height of 100 m. Ir the ball was in contact with the floor for 3.16 3.

then the average acceleration during the contact is:

https://dl.doubtnut.com/l/_yP6IqRYq4K19
https://dl.doubtnut.com/l/_4A4zk9S5k1hr
https://dl.doubtnut.com/l/_Ni5sHkzRGcxi


A. 700 

B. 140 

C. 280

D. 28 

Answer: d

Watch Video Solution

m/s2

m/s2

m/s2

m/s2

19. The relation between time and displacement is  where 

 and  are constants. What is retardation of the body:

A. 

B. 

C. 

D. 

Answer: a

t = αx2 + βx

α β

2αv3

2αv2

2α2v2

2αβv

https://dl.doubtnut.com/l/_Ni5sHkzRGcxi
https://dl.doubtnut.com/l/_jJKambFI2y4Z


Watch Video Solution

20. A freely falling body, falling from a tower of heighth covers a distance

h/2 in the last second of its motion The height of the tower is 10 ):

A. 58 m

B. 50 m

C. 65 m

D. 60 m

Answer: a

Watch Video Solution

ms− 2

21. A car starting from rest, accelerates at a constant rate of 5 ms for

some time. It then retards at a constant rate of 10 ms and finally comes to

rest. If the total time taken is 6 s, what is the maximum speed attained by

the car:

https://dl.doubtnut.com/l/_jJKambFI2y4Z
https://dl.doubtnut.com/l/_auq6wc8kHz1W
https://dl.doubtnut.com/l/_CttdKY46lSMS


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

10ms− 1

40ms− 1

20ms− 1

5ms− 1

22. A body is dropped from a height of 125 m. If = 10  what is the

ratio of the distances travelled by it during the first and last second of its

motion :

A. 

B. 

C. 

D. 

ms− 2

2: 9

1: 9

1: 3

4: 9

https://dl.doubtnut.com/l/_CttdKY46lSMS
https://dl.doubtnut.com/l/_llnzav3DDVp5


Answer: b

Watch Video Solution

23. A car moving at a speed v is stopped in a certain distance when the

brakes produce a deceleration a. If the speed of car was nv , what must be

the decceleration of the car to stop it in the same distance and in the

same time?

A. 

B. na

C. 

D. 

Answer: c

Watch Video Solution

n3a

n2a

√na

https://dl.doubtnut.com/l/_llnzav3DDVp5
https://dl.doubtnut.com/l/_J4wxRLeBV4az


24. The distance x covered by a body moving in a straight line in time is

given by the relation 2 + 3x = t. If is the velocity of the body at a certain

instant of time, its acceleration will be

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

−v3

−3v3

= 2v3

−4v3

25. A body is moved along a straight line by a machine delivering

constant power, the distance moved by the body in time in proportional

to :

A. t3 / 2

https://dl.doubtnut.com/l/_xIJ2tI4JqK9n
https://dl.doubtnut.com/l/_K3IF4klkNHK1


B. 

C. 

D. 

Answer: a

Watch Video Solution

t3 / 4

t2

t1 / 2

26. Two buses leave with a minute gap and move with acceleration of 0.2

ms - How long after the departure of the second bus do the distance hew

them become equal to three times its initial value?

A. 1 min

B. 2 min

C.  min

D.  min

Answer: a

1

2

3

2

https://dl.doubtnut.com/l/_K3IF4klkNHK1
https://dl.doubtnut.com/l/_ez9ApE7xCr5g


Watch Video Solution

27. The two ends of a train moving with a constant acceleration pass a

certain point with velocities M and w. The velocity with which the middle

point of a train passes the same point is:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

u + v

2

u2 + v2

2

√ u2 + v2

2

√(u2 + v2)

28. A stone is thrown upwards from the top of a tower with some initial

speed and it reaches the ground in second. Now it is allowed to fall with

the same initial speed downward and it reaches the ground in 1 second In

https://dl.doubtnut.com/l/_ez9ApE7xCr5g
https://dl.doubtnut.com/l/_LC4AsWz1JLc0
https://dl.doubtnut.com/l/_6oKNzipxtgE3


how much time will it reach the ground if the stone is allowed to fall

freely under gravity from the same place:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

( )
t1 + t2

2

( )
t1 − t2

2

√t1t2

(t1 + t2)

29. A body starting from rest moves along a straight line with constant

acceleration. The variation of speed (v) and distance (x) is given by graph

represented in:

A. 

https://dl.doubtnut.com/l/_6oKNzipxtgE3
https://dl.doubtnut.com/l/_Qo7VIeT5qNQZ


B. 

C. 

D. 

Answer: b

Watch Video Solution

30. Given the graph of velocity of material point as a function of time. The

plot of acceleration of the particle as a function of time is given as: 

https://dl.doubtnut.com/l/_Qo7VIeT5qNQZ
https://dl.doubtnut.com/l/_8y6oYi0FSTIv


A. 

B. 

C. 

https://dl.doubtnut.com/l/_8y6oYi0FSTIv


D. 

Answer: c

Watch Video Solution

31. A car covers part of total distance with a speed of 20 km  and

second and the last part with a speed of 60 km  The average speed

of the car is:

A. 55 km 

B. 37.3km 

C. 30km 

D. 45km 

Answer: c

Watch Video Solution

1

3
h− 1

1

3
h1

h− 1

h− 1

h− 1

h− 1

https://dl.doubtnut.com/l/_8y6oYi0FSTIv
https://dl.doubtnut.com/l/_Z5yrl9OGiZiy


32. A bus is moving along a straight road with a uniform acceleration. It

passes through two points A and B separated by a distance with velocity

30 km/h and 40 kmh respectively. The velocity of the bus midway between

A and B is:

A. 33.3 km/h

B. 35.35 km/h

C. 

D. None of these

Answer: b

Watch Video Solution

20√3km/h

33. The velocity time graph of a body moving along a straight line is

shown in Fig. The acceleration of the body during OA will be:

https://dl.doubtnut.com/l/_Z5yrl9OGiZiy
https://dl.doubtnut.com/l/_RaWzN5uzDd94
https://dl.doubtnut.com/l/_ABeF9wFMwtG4


A. Zero

B. 20 

C. 10 

D. 5 

Answer: c

Watch Video Solution

m/s2

m/s2

m/s2

34. A boy completes one round of a circular track of radius "R' in 40 What

will be his displacement at the end of 2 minutes 20 second

A. zero

https://dl.doubtnut.com/l/_ABeF9wFMwtG4
https://dl.doubtnut.com/l/_tgIiXfLV60oz


B. 2 R

C. 7  R

D. 2 R.

Answer: b

Watch Video Solution

π

π

35. The velocity versus time curve of a moving point is as given ahead: 

The maximum acceleration is : 

A. 

B. 

1m/s2

2m/s2

https://dl.doubtnut.com/l/_tgIiXfLV60oz
https://dl.doubtnut.com/l/_ySlhmHwXMdZG


C. 

D. 

Answer: d

Watch Video Solution

3m/s2

4m/s2

36. A man in a balloon rising vertically with an acceleration of 4.9 ms

releases a ball 2 second after the balloon is let go from the ground. The

greatest height above the ground reached by the ball is:

A. 14.7 m

B. 24.4 m

C. 19.6 m

D. 9.8 m

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_ySlhmHwXMdZG
https://dl.doubtnut.com/l/_blnoGlQVoLXS


37. A car completes the first half of its journey with a velocity  and the

rest half with a velocity . Then the average velocity of the car for the

whole journey is :

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

υ1

υ2

v = √v1v2

v = √
v2

v1

= +
2

v

1

v1

1

v2

v =
v1 + v2

2

38. Four boys are standing at the four comers of a square ABCD of length

of sideal. They simultaneously start running such that runs towards B, B

runs towards C, C runs towards D and D runs towards A each with velocity

https://dl.doubtnut.com/l/_blnoGlQVoLXS
https://dl.doubtnut.com/l/_hVYQN9OZrPJz
https://dl.doubtnut.com/l/_nVh78ZqpDGLp


. They will meet at after time given by :

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

√2a

v

a

v

a

√2v

√a/v

https://dl.doubtnut.com/l/_nVh78ZqpDGLp
https://dl.doubtnut.com/l/_D3bf8263nCGj


39. A body when released from the top of a tower of height h reaches the

ground in time T. At what time it is at a height above the ground?

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

h

2

T

2

T

4

T

√2

√2T

40. A bullet loses  of its velocity in passing through one plank What is

the minimum number of plank's required to stop the ballet:

A. 5

B. 10

C. 11

1

20

https://dl.doubtnut.com/l/_D3bf8263nCGj
https://dl.doubtnut.com/l/_KZPnFf8WTPum


D. 20

Answer: c

Watch Video Solution

41. Which of the following is a false statement :

A. A body can have zero velocity and still be accelerated

B. A body can have constant velocity and can still have varying speed

C. A body can have constant speed but can have a varying velocity

D. The direction of velocity can change when its acceleration is

constant.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_KZPnFf8WTPum
https://dl.doubtnut.com/l/_HlhdGxJlIVdD


42. A person throws ball with velocity from the top of a building in

vertically upward direction the ball reaches the ground with a speed of 3v

then the height of the building is :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

4v2

g

3v2

g

6v2

g

9v2

g

43. A body is released from a great height and falls freely under gravity

vertically towards eurth. Another body is released from the same height

exactly one second later from the same point. Separation between the

two after 2 second of release of the second body is :

https://dl.doubtnut.com/l/_4mqoj2enCnnD
https://dl.doubtnut.com/l/_HMMLUsc6Mw8a


A. 24.5 m

B. 14.6 m

C. 9.8 m

D. 4.9 m

Answer: a

Watch Video Solution

44. A parachutist after bailing out falls 50 m without friction When

parachute opens, he descends at 2 ms and reaches the ground with a

speed of 3 m l At what height did he bailout ?

A. 111 m

B. 293 m

C. 182 m

D. 91 m

https://dl.doubtnut.com/l/_HMMLUsc6Mw8a
https://dl.doubtnut.com/l/_MnvITjAcSVLI


Answer: b

Watch Video Solution

45. A man is throwing balls in air. He throws next ball when previous one

is at the highest point. If he throws each ball after 2s , then height to

which ball rises is

A. 10 m

B. 20 m

C. 30 m

D. 15 m

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_MnvITjAcSVLI
https://dl.doubtnut.com/l/_6MHbh7rLbk1u


46. The displacement of a particle is represented by following equation: 

 


where is in metre and in second the acceleration of particle at s is

A. 18 

B. 14 

C. 32 

D. zero

Answer: c

Watch Video Solution

s = 3t3 + 7t2 + 5t + 8

ms− 2

ms− 2

ms− 2

47. Two particles A and B are connected by a rigid rod AB. The rod slides

along perpendicular rails as shown. The velocity of A to the left is 10

https://dl.doubtnut.com/l/_UW2ROdD9TrR5
https://dl.doubtnut.com/l/_0cI10EDMdw6n


 What is the velocity of B when angle ?


A. 9.8 m

B. 10 m

C. 5.8 m

D. 17.3 m

Answer: c

Watch Video Solution

ms− 1 α = 60∘

s− 1

s− 1

s− 1

s− 1

48. A car moving with a speed of 40 km/h can be stopped by applying

brakes after at least 2 m. If the same car is moving with 80 km/h, what is

https://dl.doubtnut.com/l/_0cI10EDMdw6n
https://dl.doubtnut.com/l/_bnHAatfGhKHV


the least stopping distance ?

A. 8 m

B. 2 m

C. 4 m

D. 6 m

Answer: a

Watch Video Solution

49. A rubber ball is dropped from a height of 5 m on a planet where the

acceleration due to gravity is not known. On bouncing it rises to 1.8 m.

The ball loses its velocity on bouncing by a factor of:

A. 

B. 

C. 

16

25

2

5

3

5

https://dl.doubtnut.com/l/_bnHAatfGhKHV
https://dl.doubtnut.com/l/_ONXG6KGunY46


D. 

Answer: b

Watch Video Solution

9

2

50. The displacement X (in meters) of a body varies with time (in sec) as

. The velocity of body will be zero at time:

A. 8 s

B. 10 s

C. 16 s

D. 20 s

Answer: b

Watch Video Solution

x = − t2 + 16 + + 20
4
5

https://dl.doubtnut.com/l/_ONXG6KGunY46
https://dl.doubtnut.com/l/_Z1L2iAkZgY5g


51. A stone, dropped from a certain height can reach the ground in 10 s. If

it is stopped after 5 s of its fall and then allowed to fall again, find the

time taken by it to reach the ground for the remaining distance.

A. 5 sec

B. 10 sec

C. 8.67 sec

D. 10 s

Answer: c

Watch Video Solution

52. A truck crosses a stationary motorcycle at a speed of 54 km/h. At the

same instant, the motor cyclist follows the truck by accelerating his

motorcycle at the rate of 1 ms. The motor cyclist catches the truck after a

time interval of:

https://dl.doubtnut.com/l/_b5VEV125HHll
https://dl.doubtnut.com/l/_qftvwrN7vgJA


A. 45 s

B. 40 s

C. 30 s

D. 60 s

Answer: c

Watch Video Solution

53. A particle starts from rest and travels a distance 's' with uniform

acceleration, then it travels a distance '2s' with uniform speed and finally

it travels a distance '38' with uniform retardation and comes to rest. If

whole motion is in a straight line, the ratio of maximum velocity to

average velocity is

A. 

B. 

C. 

6/7

4/5

5/3

https://dl.doubtnut.com/l/_qftvwrN7vgJA
https://dl.doubtnut.com/l/_J5YKnNzfdWhT


D. 

Answer: c

Watch Video Solution

5/2

54. A particle thrown vertically upwards has velocity 10  at half of its

height, then maximum height attained by it is :

A. 10 m

B. 20 m

C. 8 m

D. 16 m

Answer: a

Watch Video Solution

ms− 1

https://dl.doubtnut.com/l/_J5YKnNzfdWhT
https://dl.doubtnut.com/l/_0Aok3Kdn2W9Y


55. A car completes the first half of its journey with a velocity  and the

rest half with a velocity . Then the average velocity of the car for the

whole journey is :

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

υ1

υ2

v = √v1v2

v =
v1 + v2

2

v =
v1

v2

= +
2

v

1

v1

1

v2

56. The numerical ratio of average velocity to average speed is

A. Unity

B.  Unity or less

C. Unity or more

https://dl.doubtnut.com/l/_wvaADFFTxsxl
https://dl.doubtnut.com/l/_xff5Ac9cCsOB


D. Less than unity

Answer: b

Watch Video Solution

57. A particle starts from rest and has acceleration of 2 ms-2 for 10 s. After

that it travels for 30 s. with constant speed and then undergoes a

constant retardation of 4 ms and comes back to rest. The total distance

covered by the particle is:

A. 650 m

B. 700 m

C. 750 m

D. 800 m

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_xff5Ac9cCsOB
https://dl.doubtnut.com/l/_7Kfi49T2vEvM


58. If a car at rest accelerates uniformly to a speed of 144 km/h in 20 s, it

covers a distance of:

A. 20 m

B. 1440 m

C. 400 m

D. 2980 m

Answer: c

Watch Video Solution

59. The position x of a particle varies with time t as . For

what value of time acceleration is zero?

A. 

B. 

C. 

x = at2 − bt3

2a

3b

a/b

a

3b

https://dl.doubtnut.com/l/_sivJcMD87Wnz
https://dl.doubtnut.com/l/_B1fvG3phSnmM


D. zero

Answer: c

Watch Video Solution

60. Three different objects of masses and  are allowed to fall

from rest from the same point along three different frictionless paths,

the speeds of the three objects on reaching the ground, will be in the

ratio

A. 

B. 

C. 1: 1: 1 

D. 

Answer: d

Watch Video Solution

m1m2 m3

m1 :m2 :m3

m1 : 2m2 : 3m3

: :
1

m1

1

m2

1

m3

https://dl.doubtnut.com/l/_B1fvG3phSnmM
https://dl.doubtnut.com/l/_ITgnXkFJidcl


61. Two cars are moving in the same direction with a speed of 30 kmh.

They are separated from each other by 5 km. Third car moving in the

opposite direction meets the two cars after an interval of 4 minutes.

What is the speed of the third car ?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

30kmh− 1

35kmh− 1

40kmh− 1

45kmh− 1

62. A particle is moving along a straight line path according to the

relations  


represent the distance travelled in t seconds and a, b, c are constant.

Then the acceleration of the particle varies as:

s2 = at2 + 2bt + c

https://dl.doubtnut.com/l/_OE3zFRkwH3YJ
https://dl.doubtnut.com/l/_cpNrMiyjzCD6


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

s− 3

s3 / 2

s− 2 / 3

s2

63. A ball is thrown vertically upwards. Which of the following plots

represents the speed-time graph of the ball during its flight in the air

(resistance of air is not ignored)?

A. 

B. 

https://dl.doubtnut.com/l/_cpNrMiyjzCD6
https://dl.doubtnut.com/l/_CZhWIIdxlcXz


C. 

D. 

Answer: c

Watch Video Solution

64. A body moves for a total of nine seconds starting from rest with

uniform acceleration and then with uniform retardation, which is twice

the value of acceleration and then stops. The duration of uniform

acceleration is:

A. 3 s

B. 4.5 s

C. 5 s

https://dl.doubtnut.com/l/_CZhWIIdxlcXz
https://dl.doubtnut.com/l/_1ENHJLDcuuXd


D. 6 s

Answer: d

Watch Video Solution

65. A body falls from a heighth = 200 m. The ratio of distance travelled in

each 2, during != 0 to 6 second of the journey is:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

1: 4: 9

1: 2: 4

1: 3: 5

1: 2: 3

https://dl.doubtnut.com/l/_1ENHJLDcuuXd
https://dl.doubtnut.com/l/_TaQmoK0m3kK4


66. A man throws balls with the same speed vertically upwards one after

the other at an interval of 2 second. What should be the speed of the

throw so that two balls are in the sky at any time?

A. At least 9.8 

B. Any speed less than 

C. Only with speed 

D. More than 

Answer: d

Watch Video Solution

m/s

19.6m/s

19.6m/s

19.6m/s

67. Which of the following position-time graph represent uniform motion

?

https://dl.doubtnut.com/l/_qIF7EpRsN2qj
https://dl.doubtnut.com/l/_WNtiGtjd0qum


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_WNtiGtjd0qum


68. A student is standing at a distance of 50 metre from the bus. As soon

as the bus begins its motion with an acceleration of , the student

starts running towards the bus with a uniform velocity u. assuming the

motion to be along a straight road, the minimum value of u. so that the

student is able to catch the bus is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

1m/s2

12m/s− 1

10m/s− 1

8m/s− 1

5m/s− 1

69.  A balloon is rising vertically up with a velocity of 29 . A stone is

dropped from it and it reaches the ground in 10 seconds. The height of

the balloon when the stone was dropped from it is

ms− 1

https://dl.doubtnut.com/l/_Z8ZAKYMSpamg
https://dl.doubtnut.com/l/_iC4p9W8gjEjw


A. 400 m

B. 150 m

C. 100 m

D. 200 m

Answer: d

Watch Video Solution

70. A particle moves along a straight line OX. At a time (in second) the

distance x (in metre) of the particle from "O' is given by :

 How long particle travels before coming to rest ?

A. 16 m

B. 21 m

C. 40 m

D. 56 m

x = 40 + 12t − t3

https://dl.doubtnut.com/l/_iC4p9W8gjEjw
https://dl.doubtnut.com/l/_ayY756IQbUKq


Answer: d

Watch Video Solution

71. A body initially at rest is moving with uniform acceleration 'a'. It's

velocity after n seconds is v. The displacement of the body in last 2

seconds is:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

2v(n − 1)

n

v(n − 1)

n

v(n + 1)

n

2v(n + 1)

n

https://dl.doubtnut.com/l/_ayY756IQbUKq
https://dl.doubtnut.com/l/_5f4ibfj7KcMo


72. A particle moves with constant acceleration a and  . are its

average velocities in the three successive intervals  and  is of time.

Then which relation out of the following holds good for its motion ?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

v1v2v3

t1t2 t3

=
v1 − v2

v2 − v3

t1 + t2

t2 + t3

=
v1 − v2

v2 − v3

t1 − t2

t2 − t3

=
v1 − v2

v2 − v3

t1 − t1

t2 − t3

=
v1 − v2

v2 − v3

t1 + t2

t2 − t3

73. A body starting from rest moves with constant acceleration 'a'. This

acceleration is a pr where p is a constant. What is the displacement of

particle in a time interval=0 to t =  ?

A. 

t1

pt3
1

1

3

https://dl.doubtnut.com/l/_5i3NurAScqxz
https://dl.doubtnut.com/l/_IMpaNf7N8wqt


B. 

C. 

D. 

Answer: c

Watch Video Solution

pt2
1

1

4

pt3
1

−1

6

pt3
1

1

4

74. A body falls from rest. In the last second of its fall, it covers half of the

total distance then the total time of its fall is

A. 

B. s

C. 2 s

D. 4s

Answer: b

Watch Video Solution

(2 − √2)s

(2 + √2)

https://dl.doubtnut.com/l/_IMpaNf7N8wqt
https://dl.doubtnut.com/l/_yDM5krZ9hh2d


75. In the above question

the total height of fall is :

A. 50 m

B. 56 m

C. 78.4 m

D. 19.6 m

Answer: b

View Text Solution

(A body falls from rest. In the last second of its fall, it covers half of the tot

76. A small block slides without friction down an inclined plane starting

from rest. Lets  be the distance travelled from time t=n - 1 to t = n. Then 

 is:

sn

Sn

sn + 1

https://dl.doubtnut.com/l/_yDM5krZ9hh2d
https://dl.doubtnut.com/l/_fLRDiOcQEPmd
https://dl.doubtnut.com/l/_kuX1okkqlHp1


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

2n − 1

2n

2n + 1

2n − 1

2n − 1

2n + 1

2n

2n + 1

77. A parachutist after bailing out falls 50 m without friction When

parachute opens, he descends at 2 ms and reaches the ground with a

speed of 3 m l At what height did he bailout ?

A. 191 m

B. 182 m

C. 293 m

D. 111 m

https://dl.doubtnut.com/l/_kuX1okkqlHp1
https://dl.doubtnut.com/l/_1ZzWfGcdU2HM


Answer: c

Watch Video Solution

78. A particle located at x = 0 at time t=0 starts moving along positive x-

direction with velocity v that varies as . The displacement of the

particle varies with time as :

A. 

B. t

C. 

D. 

Answer: a

Watch Video Solution

v = a√x

t2

t1 / 2

t3

https://dl.doubtnut.com/l/_1ZzWfGcdU2HM
https://dl.doubtnut.com/l/_uOfOZuJvori3


79. A car moving with a speed of 50 km/h, can be stopped by brakes after

at least 6 m. If the same car is moving at a speed of 100 km/h, the

minimum stopping distance is :

A. 12 m

B. 18 m

C. 24 m

D. 6 m

Answer: c

Watch Video Solution

80. An automobile travelling with a speed of 60 km/h, can brake to stop

within a distance of 20 m. If the car is moving twice as fast i.e. 120 km/h,

the stopping distance will be

A. 20 m

https://dl.doubtnut.com/l/_y0G9jB9hMgMm
https://dl.doubtnut.com/l/_mpycvbtj9qId


B. 80 m

C. 60 m

D. 40 m

Answer: b

Watch Video Solution

81. A bullet fired into a fixed target loses half of its velocity after

penetrating 3 cm. How much further it will penetrate before coming to

rest assuming that it faces constant resistance to motion ?

A. 3.0 cm

B. 2.0 cm

C. 1.5 cm

D. 1.0 cm

Answer: d

https://dl.doubtnut.com/l/_mpycvbtj9qId
https://dl.doubtnut.com/l/_EluQN2Uep4nY


Watch Video Solution

82. The relation between time and displacement is  where 

 and  are constants. What is retardation of the body:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

t = αx2 + βx

α β

−2abv2

2bv3

−2av3

2av2

83. A car, starting from rest, accelerates at the rate f through a distance S,

then continues at constant speed for time t and then decelerates at the

rate  to come to rest. If the total distance traversed is 5 S, then :
f

2

https://dl.doubtnut.com/l/_EluQN2Uep4nY
https://dl.doubtnut.com/l/_H57Ut68cRv7X
https://dl.doubtnut.com/l/_seM1DljbAHLa


Multiple Choice Question Level Ii

A. S=ft

B. 

C. 

D. 

Answer: c

Watch Video Solution

S = ft21

6

S = ft21

2

S = ft21

4

1. A man moves along the path abode as shown in the Fig. What is his

displacement from the point of start? 

https://dl.doubtnut.com/l/_seM1DljbAHLa
https://dl.doubtnut.com/l/_kx3c7bFuY3Xa


A. 15 m

B. 4 m

C. 4.7 m

D. 5.2 m

Answer: c

Watch Video Solution

2. A body is projected vertically upwards and attains maximum height H. If

the time to reach height 'h' and H are in the ratio of 1:3, then the ratio

is :

A. 

B. 

C. 

D. 

h

H

4

9

3
2

5

9

3
2

https://dl.doubtnut.com/l/_kx3c7bFuY3Xa
https://dl.doubtnut.com/l/_qXeWZlcbDHT6


Answer: c

Watch Video Solution

3. A stone weighing 2 kg falls from the top of a tower 40 metre heigh and

burries itself 1m deep in sand. The time of penetration is :

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

s
1

15

s
1

13

s
1

14

4. What is the maximum height of a stone thrown vertically upwards if its

velocity is halved in 2 second ?

https://dl.doubtnut.com/l/_qXeWZlcbDHT6
https://dl.doubtnut.com/l/_0qZTmHj32Ebu
https://dl.doubtnut.com/l/_PjfLqOLWQONJ


A. 20 m

B. 40 m

C. 80 m

D. 100 m

Answer: c

Watch Video Solution

5. Three particles A, B, C are thrown from the top of a tower with the

same speed. A is thrown straight up, B is thrown straight down and C is

thrown horizontally. They hit the ground with speeds  and  and

respectively.

A. 

B.  gt  gt

C.  gt 

D.  lt

va, vb vc

va = vb = vc

va vb vc

va = vb vc

va = vb vc

https://dl.doubtnut.com/l/_PjfLqOLWQONJ
https://dl.doubtnut.com/l/_gzYM8j0Nak1p


Answer: d

Watch Video Solution

6. The displacement of a particle is given by    where x is in

meters and in seconds. The distance covered by the particle in first 4

seconds is :

A. 4m

B. 8 m

C. 12 m

D. 16 m

Answer: b

Watch Video Solution

x = (t − 2)2

https://dl.doubtnut.com/l/_gzYM8j0Nak1p
https://dl.doubtnut.com/l/_kaZgRNTwTprH


7. In the above question what is the distance covered bythe particle in 5th

second of its motion ?

A. 4 m

B. 8 m

C. 5 m

D. 11 m

Answer: c

View Text Solution

8. In the given graph between two physical quantities 'a' and 'b' as shown

in the figure 'b' is along x-axis while 'a' is along y-axis. The plot describes

https://dl.doubtnut.com/l/_xNH4FTivUBPa
https://dl.doubtnut.com/l/_h0i26Ngn441d


the motion of a particle in a straight line then 

A. Quantity 'b' may represent time.

B. Quantity 'a' can be velocity if motion is uniform.

C. Quantity a should be displacement if motion in uniform

D. Quantity 'a' should be velocity if motion is uniformly accelerated.

Answer: a,c,d

Watch Video Solution

https://dl.doubtnut.com/l/_h0i26Ngn441d


9. An object falling through a static water column is observed to have an

acceleration given by the relation ang-bu where g is acceleration due to

gravity and 'b' is a constant. After sufficiently long time of its release, it is

observed to fall with a constant speed. What must be the value of its

constant speed ?

A. v=g/b

B. v=a/b

C. v=g b

D. None of these

Answer: a

Watch Video Solution

×

10. A bird is flying to and fro between two cars moving with constant

speeds on a straight smooth road. One car is moving at 18 km/h while

other is moving towards the other at 27 km/h. The bird starts moving

https://dl.doubtnut.com/l/_VcvYTasaoKZk
https://dl.doubtnut.com/l/_uBKzLAb0ujlm


from the first car towards the other with a speed of 36 km/h when the

distance of separation between the two is 36 km. What is the

displacement of the bird when the two cars meet each other?

A. 18 km

B. 22.6 m

C. 28.8 km

D. 30.2 km

Answer: c

Watch Video Solution

11. Two tall buildings are standing in front of each other at a straight

separations of 10 m one of them is taller than the other by 9 m. A man is

running on the roof top of taller at a speed of 9 m/s horizontally and

jumps as such in the hope that he will land on the roof of the building

with lower height. Find will be able to land ?

https://dl.doubtnut.com/l/_uBKzLAb0ujlm
https://dl.doubtnut.com/l/_dS920w3Tron7


A. Yes

B. No

C. Just on head of edge

D. Falls in the middle of street.

Answer: a

Watch Video Solution

12. A ball is dropped from tower of height 45 m. At the same moment

another ball is thrown up with a speed of 40 ms from base. What is the

relative speed of the balls as a function of time?

A. The relative speed with respect to time is zero

B. The relative speed goes on increasing with time

C.  The relative speed goes on decreasing with time

D. The relative speed is constant and is 40 m/sec.

https://dl.doubtnut.com/l/_dS920w3Tron7
https://dl.doubtnut.com/l/_kbCMQaGIOh1U


Answer: d

Watch Video Solution

13. A car and a truck are going on a straight road each having a velocity of

72 km/h. The car cannot come to a stop in less than 3.0 sec and the truck

takes 5.0 seconds time to stop on the high-way. The car is behind the

truck. The truck gives a signal for stopping at a tollplaza. What should be

the least distance of the car from the truck so that it does not bump onto

the truck? (Take human response time to be 0.5 sec)

A. 1.25 m

B. 0.75 m

C. 1.5 m

D. 1.75 m

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_kbCMQaGIOh1U
https://dl.doubtnut.com/l/_Oseu8aYH6xDJ


14. Two cars leave one after the other and travel with an acceleration of

0.4 ms. Two minutes after the departure of the first car, the distance

between them becomes 1.90 km. The time interval between their

departures is :

A. 50 s

B. 60 s

C. 70 s

D. 80 s

Answer: a

Watch Video Solution

15. A point mass initially at rest moves along x-axis. Its acceleration varies

with time as a = 6t+ 5 ms. If it starts from origin, the distance covered by

it in 1 s is

https://dl.doubtnut.com/l/_Oseu8aYH6xDJ
https://dl.doubtnut.com/l/_FJONX96mHrui
https://dl.doubtnut.com/l/_2FqNbZoVdh1L


A. 3 m

B. 5.5 m

C. 3.5 m

D. 4 m

Answer: c

Watch Video Solution

16. The deceleration experienced by a moving motor boat after its engine

is cut off is given by  = , where is a constant. Ifv, is the magnitude

of the velocity at cut off, the magnitude of velocity at time after the cut

off is :

A. 

B. 

C. 

d
v

dt
kv3

v0

2

v0

v0

√2v2
0kt + 1

https://dl.doubtnut.com/l/_2FqNbZoVdh1L
https://dl.doubtnut.com/l/_DstRIcIgbzDo


D. 

Answer: c

Watch Video Solution

v0e
−kt

17. A pole is held vertically with one end on the ground. The length of the

pole is 30 m. The pole is allowed to fall. Assuming that the lower end of

the pole does not slip with what velocity will the upper end strike the

ground g = 10 m

A. 5 m 

B. 10 

C. 20 

D. 30 

Answer: d

Watch Video Solution

s− 1

s− 1

s− 1

s− 1

https://dl.doubtnut.com/l/_DstRIcIgbzDo
https://dl.doubtnut.com/l/_Fdy3t8GtevxO


18. The distance time graph of a particle at time t makes an angle of 

with time axis. After 1 second it makes an angle of  with time axis,

what is the acceleration of the particle ?

A. 

B. 

C. 

D. 1

Answer: a

Watch Video Solution

45∘

60∘

√3 − 1

√3 + 1

√3

19. A stone falls from rest. The total distance covered by it in the last

second of its motion is equal to the distance covered by it in the first

three seconds of its motion. How long does the stone remain in air?

A. 4 s

https://dl.doubtnut.com/l/_sIArusurW762
https://dl.doubtnut.com/l/_5LARlZcPkDpD


B. 5 s

C. 6 s

D. 7 s

Answer: b

Watch Video Solution

20. Three persons P, Q, R are at the three comers of an equilateral triangle

of each side 1. They start moving simultaneously with velocity v such that

Pathways moves towards Q Q always moves towards R and R always

moves towards P. After what time they would meet each other at O?

https://dl.doubtnut.com/l/_5LARlZcPkDpD
https://dl.doubtnut.com/l/_3oy3xmoAxdfJ


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

a

v

2a

v

2a

√3v

2a

3v

21. A bus starts moving with an acceleration2 ms? A cyclist 96 m behind

the bus starts simultaneously towards the bus at 20 m s-, after what time

will he able to overtake the bus?

A. 4 s

B. 8 s

C. 12 s

D. 16 s

https://dl.doubtnut.com/l/_3oy3xmoAxdfJ
https://dl.doubtnut.com/l/_CzBIubpocdQ7


Answer: b

Watch Video Solution

22. A boat can go across a lake of length I and return in time To at a

speed yo. On a rough day there is a uniform current moving with a speed

y to help onward journey and impede the return journey. If the time taken

to go across and return on the rough day is  then the ratio is :

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

t

t0

1 −
v2

v2
0

1

1 − v2

v2
0

1 +
v2

v2
0

1

1 + v2

v2
0

https://dl.doubtnut.com/l/_CzBIubpocdQ7
https://dl.doubtnut.com/l/_F8Kr4hU9kR7K
https://dl.doubtnut.com/l/_qPXEMUe5Mn9u


23. A man is at a distance from the bus: when the bus begins to move

with a constant acceleration 'a', with what minimum velocity the man

should run towards the bus so as to catch it?

A. 

B. 2ax

C. 

D. ax

Answer: a

Watch Video Solution

√2ax

√ax

24. A ball is thrown upwards from the ground. It is at a height 100 m in

upward and downward journeys at time  and  respectively. If g = 10 

, then the product of  is:

A. 10

B. 20

t1 t2
m

s2

t1. t2

https://dl.doubtnut.com/l/_qPXEMUe5Mn9u
https://dl.doubtnut.com/l/_00bQIjAlxNzw


C. 40

D. 50

Answer: b

Watch Video Solution

25. Between two stations a train accelerates uniformly at first, then moves

with constant velocity and finally retards uniformly. If the ratio of the time

taken for these is 1:8:1 and the maximum speed attained be 60 km h- then

what is the average speed over the whole journey ?

A. 48 

B. 52

C. 54

D. 56

Answer: c

W t h Vid S l ti

Kmh− 1

Kmh− 1

Kmh− 1

Kmh− 1

https://dl.doubtnut.com/l/_00bQIjAlxNzw
https://dl.doubtnut.com/l/_nZxeaSVSdC3T


Watch Video Solution

26. In the given v -1 graph, the distance travelled by the body in 5 second

will be 

A. 20 m

B. 40 m

C. 80 m

D. 100 m

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_nZxeaSVSdC3T
https://dl.doubtnut.com/l/_iIRbO1uw8w8U
https://dl.doubtnut.com/l/_tKQZ9zEVHwe6


27. The graph shown in Fig. shows the velocity v tk versus time for a body,

Which of the graphs shown below represents the corresponding accelera-

tion versus time graphs ?

A. 

B. 

https://dl.doubtnut.com/l/_tKQZ9zEVHwe6


C. 

D. 

Answer: b

Watch Video Solution

28. Figure here gives the speed-time graph for a body. The distance

travelled between I = 1.0 second and t = 7.0 second is nearest to:

https://dl.doubtnut.com/l/_tKQZ9zEVHwe6
https://dl.doubtnut.com/l/_PHmyvKXpXsjL


A. 1.5 m

B. 2 m

C. 3 m

D. 4 m

Answer: c

Watch Video Solution

29. For the velocity time graph shown in the figure below the distance

covered by the body in last two seconds of its motion is what fraction of

the total distance covered by it in all the seven seconds ?

https://dl.doubtnut.com/l/_PHmyvKXpXsjL
https://dl.doubtnut.com/l/_i0Lu9DmjGV60


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

1

2

1

4

1

3

2

3

30. The velocity-time graph of a particle moving along a straight line is

shown in Fig. The displacement of the body in 5 second is :

https://dl.doubtnut.com/l/_i0Lu9DmjGV60
https://dl.doubtnut.com/l/_RJTGHWezHrNS


A. 0.5 m

B. 1 m

C. 2 m

D. 3 m

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_RJTGHWezHrNS


31. The position x of a particle varies with time t as . For

what value of time acceleration is zero?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x = at2 − bt3

a

3b

a

b

a

2b

3a

b

32. A boy walks to his school at a distance of 6 km with constant speed of

2.5 km/h and walks back with a constant speed of 4 km/h. His average

speed for the round trip is:

A. 

B. 

kmh− 124
13

kmh− 140
13

https://dl.doubtnut.com/l/_P0qChHy1bl0U
https://dl.doubtnut.com/l/_HVATrd3PnKCs


C. 3 km/h

D. 

Answer: b

Watch Video Solution

Kmh− 11

2

33. A particle is dropped from rest vertically from a height The time taken

by it to fall through successive distances of 1 m cach will then be :

A. All equal being equal to sec.

B. In the ratio of square roots of integers 1,2,3,4

C. In the ratio of the difference in the square roots of integers i.e.

D. In the ratio of 

Answer: c

Watch Video Solution

√
2

g

(√1 − √0), (√2 − √1), (√3 − √2)

: :
1

√1

1

√2

1

√3

https://dl.doubtnut.com/l/_HVATrd3PnKCs
https://dl.doubtnut.com/l/_BYmOTJd8yy9z


34. The position of a particle moving in a x - y plane at any instant is given

by  metres  metres. Select the correct

statement.

A. Acceleration is zero at i = 0

B. Velocity is zero at t = 0

C. Velocity is zero at 1 sec.

D. Velocity and acceleration are never zero.

Answer: c

Watch Video Solution

x = (3t2 − 6t) y = (t2 − 2t)

35. A ball falls on the surface from 10 m height and rebounds to 2.5 m. If

the duration of contact with the floor is 0.01 sec. Then average

acceleration during contact is:

https://dl.doubtnut.com/l/_BYmOTJd8yy9z
https://dl.doubtnut.com/l/_sP4u1dIhJN2Q
https://dl.doubtnut.com/l/_d6cCnDZcSTOD


A. 2100 

B. 1400 

C. 700 

D. 400 

Answer: a

Watch Video Solution

ms− 2

ms− 2

ms− 2

ms− 2

36. The acceleration a' in ms-2 of a particle is given by a =  +2t+2, where

is the time. If the particle starts with a velocity v = 2 m s-at i=0 then

velocity at the end of 2 sec is:

A. 12

B. 18 

C. 27 

D. 36 

3t2

ms− 1

ms− 1

ms− 1

ms− 1

https://dl.doubtnut.com/l/_d6cCnDZcSTOD
https://dl.doubtnut.com/l/_3OihkUxQnttl


Answer: b

Watch Video Solution

37. The x and y co-ordinates of a particle at any instant are  + 7t

and y = 5t where x, y are in metres and in seconds. The acceleration at

t=5s is :

A. Zero

B. 20 

C. 8 

D. 40 

Answer: c

Watch Video Solution

x = 4t2

ms− 2

ms− 2

ms− 2

https://dl.doubtnut.com/l/_3OihkUxQnttl
https://dl.doubtnut.com/l/_RHwVM9sabCI9


38. Two stones are thrown from the top of a tower, one straight down

with an initial speed and the second straight up with the same speed.

When the two stones hit the ground, they will have speeds in the ratio :

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

2: 3

2: 1

1: 2

1: 1

39. A lunar landing module is descending toward the moon's surface at a

steady velocity of 10 ms. At a height of 120 m, a small objects falls from its

landing gear. Taking the moon's gravitational acceleration as 1.6 ms , at

what speed (in ms) does the object strike the moon ?

https://dl.doubtnut.com/l/_RUs3DaB36zkw
https://dl.doubtnut.com/l/_BsUIoyQcqFRM


A. 202

B. 22

C. 19.6

D. 16.8

Answer: b

Watch Video Solution

40. A car starts from rest and moves with constant acceleration. The ratio

of distance covered by the car in nth second with that covered in n

seconds is:

A. 

B. 

C. 

D. 1:n

2n − 1

2n2

n2

2n − 1

2n − 1

n2

https://dl.doubtnut.com/l/_BsUIoyQcqFRM
https://dl.doubtnut.com/l/_AIKeSdLMgL6q


Answer: c

Watch Video Solution

41. A balloonist release a ballast bag from a balloon rising at 40 ms at a

time when the balloon is 100 m above the ground. If g = 10m/s2 then the

bag reaches the ground in:

A. 

B. 18 s

C. 10 s

D. 20 s

Answer: c

Watch Video Solution

16s− 1

https://dl.doubtnut.com/l/_AIKeSdLMgL6q
https://dl.doubtnut.com/l/_X29hPk8xJ7OH


42. Two bodies begin a free fall from the same height at a time interval of

Ns. If vertical separation between the two bodies is 1 after second from

the start of the first body, then is equal to :

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

√nN

1

gN

+
1

gN

N

2

−
1

gN

N

4

43. A boy releases a hall from the top of a building. It will clear a window 2

m high at a distance 10 m below the top in nearly :

A. 1 s

B. 1.3 s

https://dl.doubtnut.com/l/_rl37PcdZvXDV
https://dl.doubtnut.com/l/_fajJu3QT7jMI


C. 0.6 s

D. 0.13 s.

Answer: d

Watch Video Solution

44. Two balls are projected simultaneously with the same speed from the

top of a tower, one vertically upwards and the other vertically downwards.

They reach the ground in 9 second and 4 second respectively. The height

of the tower is:

A. 100 m

B. 120 m

C. 180 m

D. 200 m

Answer: c

W t h Vid S l ti

https://dl.doubtnut.com/l/_fajJu3QT7jMI
https://dl.doubtnut.com/l/_qA34qjR1snK4


Watch Video Solution

45. A particle travels half the distance with a velocity of 6 ms. The

remaining half distance is covered with a velocity of 4 ms for half the time

and with a velocity of 8 ms for the rest of the half time. What is the

velocity of the particle averaged over the whole time of motion?

A. 9 

B. 6 

C. 5.35 

D. 5 

Answer: b

Watch Video Solution

ms− 1

ms− 1

ms− 1

ms− 1

46. A body starts from a point with a velocity and uniform acceleration a.

The direction of acceleration is reversed when the velocity of the body

https://dl.doubtnut.com/l/_qA34qjR1snK4
https://dl.doubtnut.com/l/_rAiBKPTNoJjG
https://dl.doubtnut.com/l/_ryX6uy96qE24


becomes 5u. The velocity of body al point will be

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

−v

−5v

−7v

−9v

47. The greatest acceleration or deceleration that a train may have is a.

The minimum time in which the train can get from one station to the

next at a distance s is:

A. 

B. 

C. 

√
s

a

√
2s

a

2√( )
s

a

https://dl.doubtnut.com/l/_ryX6uy96qE24
https://dl.doubtnut.com/l/_xnZNGl6aSD8Q


D. 

Answer: c

Watch Video Solution

√
1

2
s

a

48. If the velocity of a car in increased by 20%, then the minimum

distance in which it can be stopped increases by:

A. 0.44

B. 0.55

C. 0.66

D. 0.88

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_xnZNGl6aSD8Q
https://dl.doubtnut.com/l/_SC9MaE5TObBS


49. The acceleration of a particle increasing linearly with timer is be. The

particle starts from the origin with an initial velocity, The distance

travelled by the particle in time will be

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

v0t + bt31

6

v0t + bt21

3

v0t + bt31

3

v0t + bt21

2

50. A ball is dropped vertically from a height above the ground. It hits the

ground and bounces up vertically to a height d/2. Neglecting air

resistance its velocity varies with the heighth above the ground as:

https://dl.doubtnut.com/l/_oXETwqBtddXF
https://dl.doubtnut.com/l/_GdC6ZexanvuD


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

51. A ball is released from the top of a tower of heighth metre. It takes T

second to each the ground. What is the position of the ball at second
T

3

https://dl.doubtnut.com/l/_GdC6ZexanvuD
https://dl.doubtnut.com/l/_tUBOxtyvcIAV


?

A.  meter from the ground

B.  meter from the ground

C.  meter from the ground

D.  meter from the ground

Answer: c

Watch Video Solution

h

9

7h
9

8h
9

17h
18

52. A particle stars from rest. Its acceleration (a) versus time (t) is as

shown in the figure . The maximum speed of the particle will be:

https://dl.doubtnut.com/l/_tUBOxtyvcIAV
https://dl.doubtnut.com/l/_CTW3xWGmg2nn


A. 110 m/s

B. 55 m/s

C. 550 m/s

D. 660 m/s

Answer: b

Watch Video Solution

53. The velocity of particle is v=  +gt+  if its position is x =0 at t=0,

then its displacement after unit time is:

v0 ft2

https://dl.doubtnut.com/l/_CTW3xWGmg2nn
https://dl.doubtnut.com/l/_8KFMMfiQsxN5


A. 

B.  +g+f

C. +g/2+f

D.  +2g+3f

Answer: a

Watch Video Solution

v0 + g/2 + f /3

v0

v0

v0

54. An object moving with a speed of 6.25 m/s , is decelerated at a rate

given by:  


where v is the instantaneous speed The time taken by the object to come

to rest would be:

A. 2s

B. 4 s

C. 8 s

D. 1 s

= − 2.5√v
dv

dt

https://dl.doubtnut.com/l/_8KFMMfiQsxN5
https://dl.doubtnut.com/l/_dG3A6qq1ie3u


Recent Competitive Question

Answer: a

Watch Video Solution

1. A train is moving slowly on a straight track with a constant speed of

 . A passengers in the train starts walking at a stready speed of 

 to the back of the train in the opposite direction of the motion

of the train. So to an observer standing on the platform directly in front

of that passenger, the velocity of the passenger appears to be

A. 2  in the opposite direction of the train

B. zero

C. 4

D. 2 

Answer: b

2  m s − 1

2  m s − 1

ms− 1

ms− 1

ms− 1

https://dl.doubtnut.com/l/_dG3A6qq1ie3u
https://dl.doubtnut.com/l/_RMZXxpR3drKz


Watch Video Solution

2. A motorboat covers a given distance in 6 hours moving downstream on

a river. It covers the same distance in 10 hours moving upstream. The time

it takes to cover the same distance in still water is

A. 6.5 hours

B. 8 hours

C. 9 hours

D. 7.5 hours

Answer: d

Watch Video Solution

3. The displacement-time graphs of two moving particles makes anlges of

 and  with the X-axis.The ratio of their velocities is30∘ 45∘

https://dl.doubtnut.com/l/_RMZXxpR3drKz
https://dl.doubtnut.com/l/_WPF6J2O7wyIE
https://dl.doubtnut.com/l/_j1kdi5boqgHp


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

√3: 2

1: 1

1: 2

: √3

https://dl.doubtnut.com/l/_j1kdi5boqgHp
https://dl.doubtnut.com/l/_bXGL1PHjfTMZ


4. A person throws balls into air vertically upward in regular intervals of

time of one second . The next ball is thrown when the velocity of the ball

thrown earlier becomes zero . The height to which the balls rise is … 

(Assume , g = )

A. 5 m

B. 10 m

C. 7.5m

D. 20m

Answer: a

Watch Video Solution

10ms− 2

5. A body of mass 'm' is travelling with a velocity 'u' . When a constant

retarding force 'F' is applied , it comes to rest after travelling a distance

 . If the initial velocity is 2u , with the same force F , the distance

travelled before it comes to rest is  . then

s1

s2

https://dl.doubtnut.com/l/_bXGL1PHjfTMZ
https://dl.doubtnut.com/l/_W1X7y9uphLFE


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

s2 = 2s1

s2 =
s1

2

s2 = s1

s2 = 4s1

6. In a lift moving up with an acceleration of , a ball is dropped

from a height of 1.25 m. The time taken by the ball to reach the floor of

the lift is ……(nearly) ( )

A. 0.3 second

B. 0.2 second

C. 0.16 second

D. 0.4 second

5ms− 2

g = 10ms− 2

https://dl.doubtnut.com/l/_W1X7y9uphLFE
https://dl.doubtnut.com/l/_lhW2b2vrgWed


Answer: d

Watch Video Solution

7. A car moves from A to B with a speed of 30 kmph and from B to A with a

speed of 20 kmph. What is the average speed of the car ?

A. 25 kmph

B. 24 kmph

C. 50 kmph

D. 10 kmph

Answer: b

Watch Video Solution

8. A body starts from rest and moves with constant acceleration for t s. It

travels a distance  in first half of time and  in next half of time, thenx1 x2

https://dl.doubtnut.com/l/_lhW2b2vrgWed
https://dl.doubtnut.com/l/_Qmuz04v3RQ0U
https://dl.doubtnut.com/l/_SXRqHWG5lojY


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

x2 = x1

x2 = 2x1

x2 = 3x1

x2 = 4x1

9. A stone is thrown vertically at a speed of  taking an angle of 

 with the horizontal. What is the maximum height reached by the

stone ? Take .

A. 30 m

B. 22.5 m

C. 15 m

D. 10 m

30ms− 1

45∘

g = 10ms− 2

https://dl.doubtnut.com/l/_SXRqHWG5lojY
https://dl.doubtnut.com/l/_67OCQqID2MXg


Answer: b

Watch Video Solution

10. The velocity - time graph for two bodies A and B are in the ratio 

A. tan 25 to tan50

B. cos 25 to cos 50

C. tan25 to tan 40

D. sin 25 to sin 50

https://dl.doubtnut.com/l/_67OCQqID2MXg
https://dl.doubtnut.com/l/_Bkwbb60Vbitc


Answer: a

Watch Video Solution

11. A stone of mass 0.005 kg is thrown vertically upwards. What is the

direction and magnitude of net force on the stone during its upward

motion ?

A. 0.049 N vertically downwards

B. 9.8 N vertically downwards

C. 0.49 N vertically upwards

D. 0.98 N vertically downwards.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_Bkwbb60Vbitc
https://dl.doubtnut.com/l/_ANkJzZ9H9EoZ


Revision Test

12. A ball is dropped from top of the building 100m high. Simultaneously

another ball is thrown upwards from bottom of tower with such a

velocity that the balls collide midway. What is the speed of 2nd ball ?

A. 31.6 m/s

B. 27.8 

C. 22.4 

D. 19.6 

Answer: a

Watch Video Solution

ms− 1

ms− 1

ms− 1

1. The acceleration of a particle increasing linearly with timer is be. The

particle starts from the origin with an initial velocity, The distance

travelled by the particle in time will be

https://dl.doubtnut.com/l/_pd9RybwWRKvu
https://dl.doubtnut.com/l/_oasAUz3AfkJj


A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

ut +
bt3

3

ut +
bt3

3

ut +
bt3

6

2. The relation between time and displacement is  where 

and  are constants. What is retardation of the body:

A. 

B. 

C. 

D. 

Answer: A

t = αx2 + βx α

β

2αv3

2αβv3

2βv3

2αβ

https://dl.doubtnut.com/l/_oasAUz3AfkJj
https://dl.doubtnut.com/l/_rtrHLCygs5Vb


Watch Video Solution

3. A body moves with uniform acceleration. If , U, and 1, be the average

velocities in three successive intervals of time , and I, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

V1 − v2 : v2 − v3 = t1 − t2 : t2 + t3

V1 − v2 : v2 − v3 = t1 + t2 : t2 + t3

V1 − v2 : v2 − v3 = t1 − t2 : t1 − t3

V1 − v2 : v2 − v3 = t1 − t2 : t2 − t3

4. The velocity-time graph of a body moving in one dimension is as shown

below. The displacement of body in 10 second is : 

https://dl.doubtnut.com/l/_rtrHLCygs5Vb
https://dl.doubtnut.com/l/_G5SmqJzEDbEa
https://dl.doubtnut.com/l/_LZc1CPQO9wYT


A. 40 m

B. 60 m

C. 80 m

D. 100 m

Answer: B

Watch Video Solution

5. A bus is moving along a straight road with a uniform acceleration. It

passes through two points A and B separated by a distance with velocity

https://dl.doubtnut.com/l/_LZc1CPQO9wYT
https://dl.doubtnut.com/l/_zkOb4dVTpHIQ


30 km/h and 40 kmh respectively. The velocity of the bus midway between

A and B is:

A. 35 km/h

B. 33.3 km/h

C. 

D. km/h

Answer: D

Watch Video Solution

20√3km/h

25√2

6. A body is released from tower of height 1000 m and falls freely. Another

body is released from the same height exactly one second later. Then the

separation between the two bodies 3 second after the release of Ist body

is :

A. 24.5 m

B. 34.3m

https://dl.doubtnut.com/l/_zkOb4dVTpHIQ
https://dl.doubtnut.com/l/_aMvqNRHctyIL


C. 9.8 m

D. 4.9 m

Answer: A

Watch Video Solution

7. The two ends of a train moving with a constant acceleration pass a

certain point with velocities M and w. The velocity with which the middle

point of a train passes the same point is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

v1 + v2

2

v1 + v2
2

2

√
v1 + v2

2

2

√v2
1 + v2

2

https://dl.doubtnut.com/l/_aMvqNRHctyIL
https://dl.doubtnut.com/l/_oJkqAIetdX8d


8. A body starts from rest with uniform acceleration in a st. line, Then

distance travelled by body in 3rd and 4th second are in the ratio :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 1

1: 3

3: 4

5: 7

9. A body is thrown up from the top of a tower with some velocity reaches

the ground in 16 second. The same body if thrown with same velocity in

downward direction reaches the ground in 4 second. If the body is just

dropped from the tower, then it will reach the ground in time:

A. 10 s

https://dl.doubtnut.com/l/_oJkqAIetdX8d
https://dl.doubtnut.com/l/_VLRYRrOoCG5X
https://dl.doubtnut.com/l/_V36L9kY4nVs6


B. 8 s

C. 6 s

D. None of these

Answer: B

Watch Video Solution

10. A motor car moving with uniform acceleration covers two successive

kilometre in 30 second and 20 second respectively. Then the acceleration

of motor car is:

A. 

B. 

C. 

D. 

Answer: C

3ms− 2

ms− 23

2

ms− 22

3

ms− 21

3

https://dl.doubtnut.com/l/_V36L9kY4nVs6
https://dl.doubtnut.com/l/_NVC0Zl9KhldC


Watch Video Solution

11. A bullet fired into a fixed target loses half of its velocity after

penetrating 3 cm. How much further it will penetrate before coming to

rest assuming that it faces constant resistance to motion ?

A. 4 cm

B. 2 cm

C. 40 cm

D. 20 m

Answer: A

Watch Video Solution

12. What is the maximum height of a stone thrown vertically upwards if

its velocity is halved in 2 second ?

https://dl.doubtnut.com/l/_NVC0Zl9KhldC
https://dl.doubtnut.com/l/_Pa5Jb8MoNGrL
https://dl.doubtnut.com/l/_yKyoY6j85eKD


A. 100 m

B. 80 m

C. 3 cm

D. 1 cm

Answer: B

Watch Video Solution

13. A bullet loses half of its velocity in penetrating 18 cm into a block.

Further distance covered by bullet before coming to rest is:

A. 9 cm

B. 6 cm

C. 3 cm

D. None of these

Answer: B

https://dl.doubtnut.com/l/_yKyoY6j85eKD
https://dl.doubtnut.com/l/_SiJvyh92dhgG


Watch Video Solution

14. A plumb line is hanging from the ceiling of a train. If the train moves

along the horizontal track with a uniform acceleration, the plumb line

gets inclined to the vertical at an angle:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1( )
a

g

tan− 1( )
g

a

sin− 1( )
a

g

cos − 1( )
g

a

15. A smooth steel ball is moving to and fro about the lowest position of a

frictionless hemispherical bowl. The ball attains a maximum height of 20

https://dl.doubtnut.com/l/_SiJvyh92dhgG
https://dl.doubtnut.com/l/_xQcmg8v9lxwF
https://dl.doubtnut.com/l/_Gf6245i1bxyx


cm on either side of O. If g = 10 ms-2, and mass of the body is 5g, the

speed of the ball when it passes through O will be:

A. 

B. 2 

C. 

D. 0.2 

Answer: B

Watch Video Solution

√3ms− 1

ms− 1

√2ms− 1

ms− 1

16. A ball is dropped vertically from a height above the ground. It hits the

ground and bounces up vertically to a height d/2. Neglecting air

resistance its velocity varies with the heighth above the ground as:

A. 

https://dl.doubtnut.com/l/_Gf6245i1bxyx
https://dl.doubtnut.com/l/_ko1BeUYU0oCY


B. 

C. 

D. 

Answer: A

Watch Video Solution

17. A car leaves station A for station B every 10 minutes. Simultaneously a

car leaves station B for station A every 10 minutes. The cars move at

constant speed and go from A to B or vice versa in 1 hour. How many cars

coming from other side will meet each car on rate from A to B :

https://dl.doubtnut.com/l/_ko1BeUYU0oCY
https://dl.doubtnut.com/l/_dx6XLx9FfUQX


A. 12

B. 11

C. 6

D. 5

Answer: B

Watch Video Solution

18. A body starts from rest with uniform acceleration in a st. line, Then

distance travelled by body in 3rd and 4th second are in the ratio :

A. 

B. 

C. 

D. 

Answer: C

1: 2: 3

1: 4: 9

1: 3: 5

2: 4: 6

https://dl.doubtnut.com/l/_dx6XLx9FfUQX
https://dl.doubtnut.com/l/_IAlz4cfFHvfI


Watch Video Solution

19. A body falls from rest. In the last second of its fall, it covers half of the

total distance then the total time of its fall is

A. 

B. s

C. 2s

D. 4s

Answer: B

Watch Video Solution

(2 − √2)s

(2 + √2)

20. In the above question the total height of fall is :

A. 50 m

B. 57 m

https://dl.doubtnut.com/l/_IAlz4cfFHvfI
https://dl.doubtnut.com/l/_ubGGY5RzynWQ
https://dl.doubtnut.com/l/_ukJTfJRRj7yU


C. 78.4 m

D. 19.6 m

Answer: B

View Text Solution

21. A bus is moving with a velocity 10 mson a straight road. A scooterist

wishes to overtake the bus in 100 second. If the bus is at a distance 1 km

from the scooter, with what velocity should the scooterist chase the bus?

A. 20 

B. 40

C. 30

D. 50

Answer: A

Watch Video Solution

ms− 1

ms− 1

ms− 1

ms− 1

https://dl.doubtnut.com/l/_ukJTfJRRj7yU
https://dl.doubtnut.com/l/_7SqPo6Y4FXBO


22. A man runs at a speed of 4 ms to overtake a standing bus. When he is

6m behind the door (a ) the bus moves forward and continues moving

with constant acceleration of 1.2 . The time after which the man is able

to catch the bus is :

A. 4.4s

B. 2.3 s

C. 6.7 s

D. 2.1 s

Answer: B

Watch Video Solution

m

s2

23. A particle starts from origin goes along x-axis to point (+ 20 m, 0) and

then returns along same line to (-20 m, 0) point total distance moved is:

A. +20m

https://dl.doubtnut.com/l/_7SqPo6Y4FXBO
https://dl.doubtnut.com/l/_41hLYDVpde56
https://dl.doubtnut.com/l/_Lu6SzzOzfYlq


B. 

C. 

D. 

Answer: D

Watch Video Solution

−20m

−40m

−60m

24. what is the displacement of the particle during the motion is?

A. 

B. 

C. 

D. 60 m

Answer: B

View Text Solution

+20m

−20m

−40m

https://dl.doubtnut.com/l/_Lu6SzzOzfYlq
https://dl.doubtnut.com/l/_qLkOyFENb0b7
https://dl.doubtnut.com/l/_nGf9k5lGPLwc


25. A body moving with uniform acceleration has velocities 20 ms and 30

ms when passing two points A and B. The velocity mid-way between A and

B is:

A. 25 

B. 25.5

C. 34

D. 

Answer: B

Watch Video Solution

ms− 1

ms− 1

ms− 1

10√6ms− 1

26. A body sliding on a smooth inclined plane requires 4 secs to reach the

bottom after starting from rest at the top. How much time does it take

to cover th the length of plane starting from the top ?

A. 3 s

1

4

https://dl.doubtnut.com/l/_nGf9k5lGPLwc
https://dl.doubtnut.com/l/_aEzqjavMLvAX


B. 1 s

C. 2 s

D. 0.5 s

Answer: C

Watch Video Solution

27. Acyclist moves from Oto D along path as shown. What is the is the

distance moved by him ? 

A. 17 km

B. 10 km

C. 3 km

https://dl.doubtnut.com/l/_aEzqjavMLvAX
https://dl.doubtnut.com/l/_InSfr3EbJIYS


D. 5 km

Answer: A

Watch Video Solution

28. In the above question what is the displacement of the cyclist from his

starting point ?

A. 17 km

B. 10 km

C. 5 km

D. 3 km.

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_InSfr3EbJIYS
https://dl.doubtnut.com/l/_USOuncVesfjo


29. In the above question the average speed of the particle nearly is:

A. 2 

B. 6 

C. 11 

D. 8 

Answer: C

View Text Solution

ms− 1

ms− 1

ms− 1

ms− 1

30. A stone weighing 2 kg falls from the top of a tower 40 metre heigh

and burries itself 1m deep in sand. The time of penetration is :

A. 

B. 

C. 

D. None of these

s
1

15

s
1

13

s
1

14

https://dl.doubtnut.com/l/_0VWwToCgtc58
https://dl.doubtnut.com/l/_K79PyxGRuSvH


Answer: C

Watch Video Solution

31. Drops of water fall from the overflow pipe of a overhead water

reservoir 9 m high at a regular intervals of time, the first drop reaching

the ground at the same instanta which fourth drop just begins to fall. At

what distances are the second and third drops from the ground?

A. 6 m, 2 m

B. 6 m, 3 m

C. 4 m , 1m

D. 4 m and 2 m

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_K79PyxGRuSvH
https://dl.doubtnut.com/l/_vz35aDGypWzY


32. In the above question the retardation is given by :

A. 1 

B. 2 

C. 3 

D. 4 

Answer: B

View Text Solution

ms− 2

ms− 2

ms− 2

ms− 2

33. A particle starting from rest falls from a certain height. Assuming that

the value of acceleration due to gravity remains the same throughout the

motion is displacement in three successive half second intervals are

 then   is given by :

A. 

B. 

S1. S2. S3 S1. S2. S3

1: 5: 9

1: 2: 3

https://dl.doubtnut.com/l/_ubhCOpkVPfGo
https://dl.doubtnut.com/l/_gXnoAIECjjq2


C. 

D. 

Answer: D

Watch Video Solution

1: 1: 1

1: 3: 5

34. A balloon is going upwards with a velocity of 20 m  It releases a packet

when it is at a height of 160 m from the ground. The time taken by the

packet to reach the ground is

A. 6 s

B. 8 s

C. 10 s

D. 18 s

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gXnoAIECjjq2
https://dl.doubtnut.com/l/_g67zT7zfU9Yz


35. A particle is projected vertically upwards and attains maximum height

H. If the ratio of the times to attain heighth on two way journey t (h

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

3

4

4
5

5

6

36. A body is projected vertically upwards and attains maximum height H.

If the time to reach height 'h' and H are in the ratio of 1:3, then the ratio

 is :

A. 

h

H

4

9

https://dl.doubtnut.com/l/_g67zT7zfU9Yz
https://dl.doubtnut.com/l/_NJDhUqOmqDqh
https://dl.doubtnut.com/l/_zjtwdAAZdyJM


B. 

C. 

D. 

Answer: C

Watch Video Solution

3

4

5

9

3

5

37. A particle travels half the distance with a velocity of 6 ms. The

remaining half distance is covered with a velocity of 4 ms for half the time

and with a velocity of 8 ms for the rest of the half time. What is the

velocity of the particle averaged over the whole time of motion?

A. 

B. 

C. 

D. 

V0 + v1 + v2

3

2V0 + v1 + v2

3

V0 + 2v1 + v2

3

2V0 + v1 + v2

2V0 + v1 + v2

https://dl.doubtnut.com/l/_zjtwdAAZdyJM
https://dl.doubtnut.com/l/_cM8QZhdXqMHz


Answer: D

Watch Video Solution

38. A dog chases a cat 30 m ahead of it and gains 3 meters in 3 sec after

the chase started. After 10 sec the distance between them is :

A. 6 m

B. 14 m

C. 18 m

D. 24 m

Answer: C

Watch Video Solution

39. A beat needs one-third of the time to go a certain distance

downstream that it takes upstream. Then number of times the velocity of

https://dl.doubtnut.com/l/_cM8QZhdXqMHz
https://dl.doubtnut.com/l/_P5RLwVoLuX8L
https://dl.doubtnut.com/l/_yVTTUU3LUaCb


boat is greater than that of current is:

A. four times

B. times

C. two times

D. Three times

Answer: C

Watch Video Solution

1
1

2

40. A man can swim three kilometre distance in three hours in a still

water. A log of wood floating downstream cowers a distance of 1 km

during this time. How much distance the man would swim opposite to

the log of wood in three hours?

A. 1 km

B. 2 km

C. 3 km

https://dl.doubtnut.com/l/_yVTTUU3LUaCb
https://dl.doubtnut.com/l/_NTPlIMrfoevx


D. 4 km

Answer: B

Watch Video Solution

41. A body moving with the constant retardation d loses of its initial

velocity w What is the distance covered by the body in the time during

which it occurs ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

( )
22v0

3a

4v2
0

9a

2v2
0

3a

2v2
0

9a

https://dl.doubtnut.com/l/_NTPlIMrfoevx
https://dl.doubtnut.com/l/_VNA8H85PeYJP
https://dl.doubtnut.com/l/_VmUSAP7pEJGe


42. Two buses start off with a gap of 2 minutes move with the same

acceleration. How long after the departure of the second is the

distance covered by it equal to of the distance covered by the first?

A. 4 minutes

B. 2 minutes

C. 1 minute

D.  minutes

Answer: C

Watch Video Solution

1

9

1

2

43. The velocity of projection of a body is increased by2%. Other factors

remaining unchanged, what will be the percentage change in the

maximum height reached

A. 0.01

B. 0.02

https://dl.doubtnut.com/l/_VmUSAP7pEJGe
https://dl.doubtnut.com/l/_qI6lSiAQo6bM


C. 0.08

D. 0.04

Answer: D

Watch Video Solution

44. A particle moving along the x-axis has a position given by x= 16t t

metres where t is in second, then how far is the particle from the origin

when it just stops momentarily ?

A.  meter

B.  meter

C.  meter

D. 16 meter

Answer: C

Watch Video Solution

e

16

e × 16

16

e

https://dl.doubtnut.com/l/_qI6lSiAQo6bM
https://dl.doubtnut.com/l/_16YiX1ekxMRB


45. Two bodies begin to move from rest in the same straight line at the

same instant of time from the same point. The first moves with constant

velocity of 40 ms and the second starts with uniform acceleration of 4

ms. The time which the distance between them is maximum is :

A. 20 s

B. 10 s

C. 40 s

D. 5 s

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_16YiX1ekxMRB
https://dl.doubtnut.com/l/_Hn9C5VoAF5wN

